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s Fnd @ | :+9dx
X

(i) j cos’ xdx

}' 2x+5
x*+4x+13

(iii)

3
4
)  Use the ‘t’ method to evaluate E 3+5cosx

© () Giventhat 1,= g-ﬁ__—; dx,

2
2n+1

show that 71, = (4n1,_, -37).

2
(ii)  Use your result to evaluate f J:__
-X

dx,

QUESTION 2 Start a new booklet
(a) (i) Shade on an Argand diagram the region for which

b

©

@

(D)

|Z}<2 and 1s<ImZs2.

Write down in the form @ + ib the complex number with least

argument that lies in this region.

You are given a complex number Z =(1+ \/gi)(l +1i)

®
Gi)

(ii)
(iv)

Express Z in the form x + iy where x and y are real.

Express 1++/3i and 14i in modulus-argument form first,

then show that Z=\/§ cis;,—;

Hence find the exact values of cos ;’—; and sin ]7—;

What is the smallest positive integral n for which Z” is real?

Given two complex numbers Z, and Z, such that Z, =kiZ,, (k is real)

explain why |Zl -Z, l=' Z, +Z, I

M

)

Find the 2 square roots of 5—12i and express your answers
in the form a + ib

Show the points P and Q representing these square soots on an
Argand diagram.

Find the complex numbers represented by points R and S such
that triangles PQR and PQS are equilateral.




QUESTION 3 Start a2 new booklet
{a)  Ona hyperbola the distance between its vertices is 6 units and the distance

®)

©

between its foci is 10 units.
Find (i) the distance between its directrices
(ii)  the acute angle between its asymptotes

2 2

Points P and Q arc the endpoints of a focal chord of the ellipse AP A

a® b
If the parameters at points P and Q are 0 and @, show that the eccentricity e

sin(6 ~¢q)

isgivenby — -
sin@-sing

The equation x* +2x~1=0 hasroots o, Bandy.

Write down an equation with roots

@ -a-B-y

i) o-a B-B, yand-y

(iii)  Use your answer to (ii) to find the value of Zof, thatis the sum of
the products of the 6 roots taken 2 at a time.

@

A certain right solid has elliptical cross section as shown in the diagram.

The base has semi-major axis 6 units and semi-minor axis 4 units, while the
upper face has semi-major axis 3 units and semi-minor axis 2 units.

The height of the solid is 6 units.

Find an expression for the area of a typical cross section A units below the upper

face, and hence by integration show that the volume of the solid is 84 cub.units




QUESTION 4 Start a new bookiet QUESTION 5 Start a new booklet

(a) Itis given that 3 - is a zero of the function P(x)=x’ +ax’ +bx-10 3 (a) The function y = f(x) is defined for —1< x <2 as shown below.

where a and b are real.

Find the other zeros and the values of a and b. : 24

® () K P(x)=x'-9x' +24x+c for some real c, find the values of x 2

for which P’(x) =0. Hence find the two values of ¢ for which

P(x) =0 has a repeated root. < { N N
-1 1 2 x
(iiy  Sketch the graphs of y = P(x) for these values of c. 3
Hence write down the values of ¢ for which P(x) =0 has 3 distinct ; Copy the diagram onto your paper, and use the same scale to draw the graphs of
real roots. i . -
@ y=tan’ f(x) 1
; (i) y+1=2f(x-2) 2

/) @ 2y=1(2%) 2
@

(6) (i) Iltis given thata curve has equation y*=x*(x+3)’. 4
Draw the graph of the curve, paying particular attention to the shape
of the curve as it crosses the axes.

(Show any turning points, but you are not required to show testing their

nature.)
(b)) (@) Prove that tan~'(n+1)~tan™* n=cot™ (1 +n+n?) 1
(ii) Calculate the area completely enclosed between the curve and the 3
X axis. (ii)  Hence show that the sum of the infinite series 2

cot”’3+cot™?7+cot™13 4. +cot™ (14 n+n?) =cot"(l +3)
n




. c o x Y
(c}  An ellipse has equation ) + 5 =i

@) Calculate its eccentricity, and write down the equation

of a directrix and the coordinates of the corresponding focus.

(i)  The smaller segment cut off the ellipse by its latus rectum is
rotated about the corresponding directrix.
Using the method of cylindrical shells, find the volume of the

solid generated.

| .
N

QUESTION 6 Start a new booklet

(@

®)

©)

2]

(i) Given that z = cos0 + isin 0, simplify the expression z" +2z~

(i)  Hence or otherwise solve 5z° —11z2° +162% —11z+5=10

giving your answers in the form a+ib .

For this question, you may use the following information:

The median of a triangle is an interval joining a vertex to the midpoint of the
opposite side. The medians intersect at a point called the centroid, which divides
each median in the ratio 2:1.

The base of a tetrahedron OABC is an equilateral triangle of side 4 cm.

The other edges are ali 5 cm.

The altitude is OD, where D is the centroid of the base ABC.

Calculate

(i) The angle OA makes with base ABC.

(i) The shortest distance between the edges
OA and BC.

The point P(x,, y, ) is one point of intersection of the rectangular hyperbolas

x-y?=2 andxy =1.

The tangent at P to the first hyperbola cuts its asymptotes at A and C,

and the tangent at P to the second hyperbola cuts its asymptotes at B and D.

(i) Draw a sketch illustrating the given information and show that the
equation of ACis xx, ~ yy, =2

(i)  Show that the coordinates of B and D are (0,2y,)and (2x,,0)

(iii)  Prove that A, B, C and D are the vertices of a square,




QUESTION 7 Start a new booklet

(@)

®

An object of mass 20 kg is dropped through the atmosphere, meeting an
air resistance of 2v Newtons at speed v m/sec.

Acceleration due to gravity is 10m/sec’.

(i} What is the terminal velocity?
(i1) Find an expression for velocity v at time ¢ seconds.

(iii)  Show that the distance x m travelled with velocity v is given by

x =100010, 100 -10v
100-v

(iv)  Use paris (ii) and (iii) to calculate the distance the object falls

in the first 10 seconds.

A . . d" a'fd
The n* derivative of a function f(x) is o fx) = F[Z f (x)] etc.
(i) Show that —d-u—(x" }=n!
dx" i
(i)  Prove by induction that for positive integral n

d" 1 1
—{x"In nx+1+=+. +—
dx“(x x)=n( x +2 n)

e ]
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